O|HZF dAl=T =&

O{ZI0|X|FY : 27

1A, 22| Al W 50,000
MEH Al W 50,000
7HAd Al W 30,000
o 8F(195) W 100,000 |ZHE| 2| 1 & 2 &= 150,000
e EF(RIIFAES) W 80,000
ol BREE H) W 20,000
oA SRS 7IEF) W 20,000
ZEYO|EA ZtaA| W 130,000
LIEZAIOIZ W 180,000
L2 8= W 30,000
Ol R W 100,000
HE| W 10,000
EFAH| W 80,000
Z2Ostol = W 30,000
1XHEESEY o gl W 80,000
=] W 170,000
SHE(ES) W 280,000
SHEEF ) W 380,000
E2AE TtaH| W 140,000
Lt 2h R (A Q) W 80,000
LHE 2HE R (ALH) W 140,000
| W 200,000
pH W 100,000




QtH=oIC 4 OZI0O|N| & AAlr-T &
O{ZO|HIZE : S8 E
g= FTE(H) H| 2

=28 Al # 50,000
AN EE(BB) W 50,000
Folleas HREFE H) W 20,000
oA SRS 7IEFH) W 20,000
ZEO|EA ZtaA| W 130,000
Z2Ostol = W 30,000
pH W 10,000




